Bellwork Alg2  Wednesday, February 27, 2019

Simplify each sum or difference.
3x i 8 6 S5x

2. + -
8x*=128x2 " 12x3 = 42x2 =24x 262+ 8x+6 . 4x3 —4x2—8x  x3 +x2—6x

3. If the product of (1 +2),(2 + 3), and (3 + 4) is equal to one-half the sum of 20 and x, what is the value of
x?
A.10 B.8 C.105 D. 19 E. 1210

4. At Ernie’s Fruit Stand, 3 apples and 5 cherries cost $1.25. 15 apples and 100 cherries cost $9.25.
What is the cost of 6 apples and 35 cherries?
A. $3.25 B. $3.50 C. $3.62 D. $4.00 E. $5.25

5. Which of the following could be an equation for the graph shown below?
A) y=x(x+3)2(x-2) B) y=x(x+2)>(x-3) C)y=x*(x+3)(x-2) D) y=x*x+2)(x-23)
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4. At Ernie’s Fruit Stand, 3 apples and 5 cherries cost $1.25. 15 apples and 100 cherries cost $9.25.

What is the cost of 6 apples and 35 cherries? p 26
A. $325 (B. $350) C. $3.62 D. $4.00 E. $5.25 UG v Bl = ST
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5. Which of the following could be an equation for the graph shown below?
A) y=x(x+3)*(x-2) B) y=x(x+2)*(x- 3) ¢ ( C) y= x2(x+ 3)(x -2) ) D) y= x2(x+2)(x-3)
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